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Make sure that you havc'25 questions. Each question is worth 4 points. % @ (\g‘% r? /{2 } 1::573 %3 J\%,{@: .

When investors calculate the return on their financial investment, which method will provide the

1.
“realized” rate of return ? (1) arithmetic average (2)geometric average (3) IRR (4) NPV (5) None of

above.

2. You are watching the following three stocks:

Stock Standard Deviation Beta
A 0.16 0.80
B 0.24 0.62
Sc 0.21 130

if it is to be held in isolation and Stock

If you are a risk minimizer, you should choose Stock
if it is to be held as part of a well-diversified portfolio. (1)A; A 2) A;B(3)B;A4) G A (5)

C; B (6) None of the above.

Minimizing the weighted average cost of capital is the same as: (1) Maximizing the market value of
the firm. (2) Maximizing the market value of the firm only if MM's Proposition I holds.
(3)Maximizing the profits of the firm (4)None of the above

4. In an efficient market: (A) Publicly held companies should diversify their operations because
investors benefit from diversification. (B)Publicly held companies should not diversify their
operations. (C) Investors’ wealth is not affected regardless of whether or not companies diversify

their operations. Which of the above are (is) correct ? (1)A, (2)B, (3)C, (4)AC, (5)BC, (6) ABC,

(7)None of the above.

5. John takes long positions only in stocks (i.e. no short positions in stocks) in his portfolio. When
John increases the number of stocks (in his portfolio) from 10 to 1,000 and does whatever he can,

what is the lowest possible value of f of his portfolio (while earning a positive expected return at the
same time) ? (1)-1 (2)0 (3)1 (4) between 0 and 1 (5) between -1 and 0 (6) None of the above.

6. Is it possible to observe the following: Stock A’s standard deviation = 50%. Stock B’s
standard deviation = 40%. However, E(ra) < E(rg). (A) Yes if the market is inefficient.
(B)Yes even if the market is efficient (C) No if the market is efficient (D) No if the market
is inefficient. (1)A (2)B (3)C (4)D (5)AB (6)AC (7)BD (8)None of the above.

7. If the stock returns follow a random walk, the correlation between stock market index return and
TSM stockreturn=(1)1 (2)0.5 (3)betweenOand1 (4)0 (5)between O and-1
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9.

Which of the following statements is most correct? (1) We would observe a downward shift in the
required returns of all stocks if investors believed that there would be deflation in the economy.
(2)If investors became more risk averse, then the new security market line would have a steeper
slope. (3) If the beta of a company doubles, then the required rate of return will also double.
(4)Both statements (1) and (2) are correct. (5) All of the statements (1), (2), and (3) are correct.

ABC Company is financed entirely by Common stock which is priced to offer a 20% expected
return. If the compaﬂy repurchases 50% of the stock and substitutes an equal value of debt
yielding 8%, what is the expected return on the common stock after refinancing? Assume that the
market is perfect. (1) between 0 and 10% (2) between 10.01% and 20% (3) between 20.01% and
30% (4) between 30.01% and 40% (5) greater than 40.01%.

10.  Which of the following statements is most correct? (1) Capital components are the types of capital

11.

12.

used by firms to raise money. All capital comes from one of three components: long-term debt,
preferred stock, and equity. (2) Preferred stock does not involve any adjustment for flotation cost
since the dividend and price are fixed. (3) The cost of debt used in calculating the WACC is an
average of the after-tax cost of new debt and of outstanding debt. (4) The opportunity cost
principle implies that if the firm cannot invest retained earnings and earn at least rg, it should pay
these funds to its stockholders and let them invest directly in other assets that do provide this
return. (5) The cost of common stock, 15, is usually less than the cost of preferred stock.

Which of the following statements is most correct? (1) An option's value is determined by its
exercise value, which is the market price of the stock less its striking price. Thus, an option can't
sell for more than its exercise value. (2) As stock price rises, the premium portion of an option on
a stock increases because the difference between the price of the stock and the fixed striking price
increases. (3) The market value of an option depends in part on the option's time to maturity and
on the variability of the underlying stock's price. (4)Issuing options provides companies with a
low cost method of raising capital. (5) The potential loss on an option decreases as the option sells
at higher prices because the profit margin gets bigger.

The traditionalist view of capital structure is different from Modigliani and Miller's (MM's) views
because: (1) MM assume risk-free debt (2)MM ignore the increase in stockholder risk as
debt-equity ratio increases (3)The traditionalists ignore the increase in stockholder risk as the
debt-equity ratio increases (4)None of the above
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13. Which of the following represent potential gains from an acquisition?
L. the replacement of ineffective managers

IT. lower costs per unit produced
III. an increase in firm size so that diseconomies of scale are realized

IV. spreading of overhead costs

A. IT and III only

B. IandIV only

C. I, II, and I'V only
D. L III, and IV only
E. L IL III, and IV

14. Which of the following statements are correct?
I. Vega measures the sensitivity of an option's value to the passage of time.
II. Theta measures the sensitivity of an option's value to the passage of time.
II1. Call options tend to be more sensitive to the passage of time than are put options.
IV. An increase in time increases the value of a call option.

A. I and IIT only

B. II and IV only

C. II, 111, and IV only
D. I, III, and IV only
E. LIL I, and IV

15. Which of the following statements are correct?
L. The usage of forward rates can help reduce the short-run exposure to exchange rate risk.
II. Accounting translation gains are recorded on the income statement as other income.
III. The long-run exchange rate risk faced by an international firm can be reduced if the firm borrows

money in the foreign country where they have operations.
IV. Unexpected changes in economic conditions are classified as short-run exposure to exchange rate risk.

A. I and III only

B. IIand IV only
C. IT and III only
D. I and IV only

E. Iand IT only

16. Which of the following statements is correct concerning the effects of granting credit to customers?
L. Total revenues may increase if both the quantity sold and the price per unit increase when credit is
granted.

II. A firm's cash cycle generally increases if credit is granted, all else equal.
II1. Both the cost of default and the cost of discounts must be considered before granting credit.
IV. A firm may have to increase its borrowing if it decides to grant credit to its customers.

L, 11, and III only
IL, 111, and IV only
I, I1I, and IV only
L II, and IV only
LILII, and IV

K OWp

17. Which of the following statements is (are) correct?
L. A firm has a greater likelihood of needing an unexpected loan when its cash flows are relatively constant

over time.
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18.

19.

20.

21.

I1. The cost of borrowing and the cost of selling securities affect the target cash balance of a firm.
I11. Management's desire to maintain a low cash balance affects their need to borrow money.

IV. The target cash balance decreases as the interest rate rises.

I and I1I only

IT and IV only

L II, and IV only
11, ITI, and IV only
L II, I, and IV

M0 w

Which of the following are valid reasons for a firm to reduce or eliminate its cash dividends?

I. The firm is on the verge of violating a bond restriction which requires a current ratio of 1.8 or higher.
II. A firm has just received a patent on a new product for which there is strong market demand and they
need the funds to bring the product to the marketplace.

I11. The firm can raise new capital easily at a very low cost.

IV. The tax laws have recently changed such that dividends are taxed at an investor's marginal rate while

capital gains are tax exempt.

I and III only

II and IV only

II, 11T, and IV only
L, II, and IV only
L IL III, and IV

Mo 0w

The optimal capital structure:

will be the same for all firms in the same industry.

will remain constant over time unless the firm does an acquisition.

of a firm will vary over time as taxes and market conditions change.

places more emphasis on the operations of a firm rather than the financing of a firm.

is unaffected by changes in the financial markets.

mYOw>

If a firm uses its WACC as the discount rate for all of the projects it undertakes then the firm will tend to:

I. reject some positive net present value pI'O_]eCtS
II. accept some negatlve net present value projects.
MI. favor low risk projects over high risk projects.
IV. become riskier over time.

I and III only

IIT and IV only

I and IT only

L II, and IV only
L IL IIL, and IV

SISEel- S

Which of the following statements are correct concerning employee stock options (ESOs)?
I. ESOs grant the employee the right to buy company stock at a fixed price.

I1. ESOs generally have a shorter life than call options.

III. Employees may lose their ESOs if they leave their job.

IV. ESOs are sometimes used as a substitute for cash wages.

A. I and III only
B. Il and IV only
C. L I1I, and IV only
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D.  ILII, and IV only
E.  LILII and IV

22. Which of the following statements is correct concerning convertible bonds?
I. New shares of stock are issued when a convertible bond is converted.
II. A convertible bond is similar to a bond with a put option.
III. A convertible bond should never be worth less than its straight bond value.
IV. A convertible bond can be described as having upside potential with downside protection.

A. I and III only

B. IT'and IV only

C. I, II, and IIT only
D. L, ITI, and IV only
E. IT, ITI, and IV only

23. If interest rates fall, P, is the price change in a bond with "t" years until maturity. Suppose there are four
bonds: B2, B4, B22, B24. If the bonds are identical in every respect except for their maturity, which of the
following statements is true?

A.P( B2- B4)>0

B.P( B2- B4)=0

C.P( B2- B4)~p(B22- B24)>0
D.P( B2- B4)- F( B22 - B24)<0
E.P( B2- B4)- p(B22- B24)=0

24. The spot rate for the Japanese yen currently is ¥106 per $1. The one-year forward rate is ¥105 per $1. A
risk-free asset in Japan is currently earning 5 percent. If interest rate parity holds, approximately what rate
can you earn on a one-year risk-free U.S. security? (Please provide final answer, no detail is

needed)

25. Firm A is planning on merging with Firm B. Firm A will pay Firm B's stockholders the current value of
their stock in shares of Firm A. Firm A currently has 2,300 shares of stock outstanding at a market price of
$20 a share. Firm B has 1,800 shares outstanding at a price of $15 a share. What is the value per share of the
merged firm? (Please provide final answer, no detail is needed)
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. Statistical inference

(A). refers to the process of drawing inferences about the sample based on the characteristics of

the population.

(B). is the same as descriptive statistics.

(C). is the process of drawing inferences about the population based on the information taken
from the sample.

(D). isthe same as a census.

. Given P(A)=0.40, P(B)=0.60, P(A NB)=0.24. Which of the following is true?

(A). Aand B are independent.

(B). A and B are not mutually exclusive.
(C). Aand B are collectively exhaustive.
(D). None of the above.

. Which of the following are characteristics of the normal probability distribution?

(A). The mean, median, and mode are equal.

(B). The mean of the distribution can be negative, zero, or positive.
(C). The distribution is symmetrical.

(D). The standard deviation must be 1.

. 'Which of the following statements are correct regarding the t-distribution?

(A). tdistribution approaches the standard normal curves as sample sizes become large.
(B). ttestis quite robust.

(C). ttestis also referred to as the Student’s t test.

(D). All of above are correct.

. Which of the following statements about properties of point estimators are correct?

(A). If the expected value of the sample statistic is equal to the population parameter being
estimated, the sample statistic is said to be an unbiased estimator of the population
parameter.

(B). The point estimator with the larger standard error is said to have less relative efficiency
than the other.

(C). A point estimator is said to be consistent if the values of the point estimator tend to
become closer to the population parameter as the sample size becomes larger.

(D). All of above are correct.

. Which of the following statements for Poisson distribution are correct?

(A). The mean and variance of Poisson distribution are equal.

(B). The expected number of occurrences is not necessary to hold constant throughout the
experiment

(C). As a rule of thumb, if n>20 and np=7, the approximation is close enough to use the
Poisson distribution for binominal problems.

(D). Each occurrence is independent of the other occurrences.
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10.

11.

12.

13.

Which of the following statements for Exponential distribution are not correct?

(A).
®).
©.
D).

it is a family of distribution.

it is a continuous distribution.

it describes random occurrences over some interval.
it is skewed to the left.

The key difference between the binomial and hypergeometric distribution is that with the
hypergeometric distribution

(A).
B).
(©).
D).

the probability of success must be less than 0.5.

the trials are independent of each other.

the probability of success changes from trial to trial.
The population is finite and known.

Chebyshev’s Theorem is important because

(A).
(B).
©.

D).

it explains an unusual mathematical phenomenon.

it enables us to give meaning to a sample standard deviation.

it gives the fraction of the measurements in a sample that fall within k standard deviation’s
of the sample mean.

it explains why the sample mean is a good measure of central tendency.

TR BN IR E

(A).
®).
©.
D).

TERBEIEHIERE -
FRERYRRE

BIERYRE -
DIBAEETEAGETRIREIRRE -

Stratified sampling is generally more efficient than simple random sampling if:

(A).
(B).

©).
D).

only a few strata are used in the stratification.

each strata contains about the same variability as the entire population with respect to the
characteristic of interest.

non-sampling errors are of no consequence or expected to be slight.

the item within each strata are relatively homogeneous.

EESEARNERECILEREIENTISRENER/\ D8 REGERESEATER
HEEM  FIRERELFITRERR  DERMET R E < /A » SR LI T Bol & IERE -

(A).
(B).
(©.
(D).
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(B).
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(TR - RIS EEEMRE— -
BHESEEAT - LABERNATAN  BERKETE  ABETREEE
EMREGRAFEHIEIITR ) -

(BB R E G BRI A -

aR=Tg




Bd ) REIBLF EE I AL HEA % 65 %

#8 & E [HELRBELHE]
14, Which of the following statements for nonparametric statistics are not correct?
(A). Nonparametric testes are usually not as widely available and well known as parametric
tests.
(B). Nonparametric statistics are based in more assumptions about the population than
parametric statistics.
(C). For small sample, the calculations for many nonparametric statistics can be tedious.
(D). Probability statements obtained from most nonparametric tests are exact probabilities.
15. When the smallest and the largest percentage of items are removed from a data set and the mean
is computed, the mean of the remaining data is:
(A). the median.
(B). the mode.
(C). greater than the mean of the original data.
(D). less than the mean of the original data.
(E). none of the above are correct.
IL REHE (3540 4))
1. A consumer test group wants to determine the difference in gasoline mileage of two new
developed hybrid car A and B. Researchers took 50 cars for the car A and also 50 cars for the car
B, and tested each car on one tank of gas. The sample average for the car A was 21.45 kilometer
per litter (KM/L), with a standard deviation of 3.46 KM/L. The sample average for the car B
was 24.6 KM/L, with a standard deviation of 2.99 KM/L. Assume ‘all samples are normal
distribution. Construct a 95% confidence interval to estimate the difference in the mean gas
mileage between the car A and car B. (4 43)
2. The manager of a book store wants to determine what proportion of people who enter the store
use credit cards for their purchases. What size sample should he take so that at 98% confidence
the error will not be more than 4%? (4 43) : o '
3. A soft drink company states the following hypotheses about the mean weight of its drink per can.
Ho: w=28 ounces ~
Hy: w# 28 ounces
If a2 manager conducting the test will permit a 0.15 probability of making a Type II error when
the true mean is 29 ounces, what sample size should be selected? Assume ¢ = 6 and 0=0.05. (4
)

4.  Abook dealer received a lot of 1,500 books from a printer. The dealer plans to sample 12 books

and use single-sample acceptance sampling to reach a decision about the lot. If more than one
book is defective, the dealer will reject the lot. Suppose the printer is fairly certain that only 3%
of the books are defective. What is the producer’s risk? Suppose 12% of the lot of books is
defective and that this rate would be too high for the dealer to accept. What is the dealer’s risk
in using this acceptance sampling? (4 53+
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5. A telephone survey conducted by a Research Company found that 43% of Taiwanese expect to
save more money next year than they saved last year because of the financial crisis. 45% of
those surveyed plan to reduce debt next year. Of those who expect to save more money next
year, 81% plan to reduce debt next year. A Taiwanese is selected randomly. What is the
probability that this person neither expect to save more money next year nor plans to reduce
debt next year? (4 43)

6. —{EMESOELLR =FERIE T ERERIEEY - B FE D RIAEFEHE - 7 7 HR

TRERIE S ERERN R » DR REREIRERRETEER » M LETH
B BERVEERAOT

BB E(—EBBO TED
 FER o e | A=
AGS25) | 3. 20 | 31
.......... BR63s) | 34 | 39 | 29
C(36-45) 32 4.1 3.0
D(46-55) 3.0 4.0 2.7
E(56-65) 2.8 43 3.0
13 ANOVA 3771 LSRRI - EEITE
- SS HEHE MS F P{E
| 0.0733 0.0183 0.756
i 1.8347 0.000
%Eﬁ 0.3107
HERD 4.0533

(A). FB5TAC LRI ANOVA %(5 77)
(B). #FLL a=0.05 ME * WLIMBEHERERR ? J1RBHRET Blocking Variable (FE5/E)
ANOVA Table SR {TERT ? ANOVA EURERGELMBRRIIEN ? BITE? (S

)

7. The general manager of a major league baseball team believes the ages of purchases of game
tickets are normally distributed. The following data represent the distribution of ages for a
sample of observed purchases of major league baseball game tickets. Use the chi-square
goodness-of-fit test to determine whether this distribution is 51gn1ﬁcantly different from the
normal distribution. Assume that 0=0.05 (10 43)

Age of Purchaser Frequency
10-under 20 16
20-under 30 44
30-under 40 61
40-under 50 56
50-under 60 35

60-under 70 19
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